Model Paper

Time Allowed: 15 Minutes

The concentration of products will

be higher when Kc is equal to ......
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Which one is mono protic acid?
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NaHCOsisa ....... salt.
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Which is the general formula of
Alkyle Radical?
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The next homologue of C7Hs is ...

O CeH1s

O CeH1s

O CoH2o

5 ~C‘-J}’y‘}‘”lﬁKC7H16 O CioH22
6 x\)//réircohcgit;[gﬁsg?iven are saturated O Alkanes O Alkenes O Alkynes O Alkyl
Vc‘_u“/guifl[u?/u:( %ﬂ| Mfgl ufg’ J’/gi
Which one is monosaccharide? Maltose Sucrose Fructose Lactose
7 ?‘éjguwrugu/ Sl Q S O Iys O Ty O e

Which vitamin is known as
calciferol?
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Which layer of atmosphere is called

ozonosphere?
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Troposphere
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Normal rain water is slightly acidic

due to pressure of .......
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What is the cause of temporary
hardness of water?
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Blister copper is .....form of copper.
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